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The value of T (%) L (%) is equal to :

(A) 2. (B) 2.

©) Jr. (D) None of the above.

The Euler method for solving the differential equation ¥’ = f (x,¥),y (xo ) = yo is given by

the recursive formula :

(A) Yn+1=In +hf(xn+1’yn+1)- B) Yni1=Yn +f(xn’yn)'
(€) yn+1=yn+hf(xn7yn)' (D) Yn+1 :yn+1+hf(xn’yn)'

Which of the following will be an integrating factor of the differential equation #y' + (¢ +2) y = 2.2

(A) ¢, (B)- ¢t
(€)%, B} %,
Let f (x) be a polynomial of degree four having extreme values at x = 1 and x = 2.

If lim {1 + izx)} =3, then f(2) is equal to :

x>0 x
(A) 0. (B) -8.
Cr -4 ; D) 4.

9
The value of the integral _[0 [\/; + 2] dx, where [ ] is the greatest integer function is :

(A) 23. (B) 22.
(C) 31. ; (D) 27.
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